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M.C.A. (Master of Computer Applications)/A
. The polarco-ordinates of (-2,-2) are given by :

(A) (@, -3n4) ® (242, n/4)
© (242, 3x/4) ® (22, -3n/4)
2, The points (-1,0),(3,1),(2,2) and (-2,1) are the vertices ofa:
{A) Squarc (B) Rectangle
(C) Cuadrilateral (¥ Purallelogram
3. The perpendicular distance of the point (1,0) from the line 3x + 2y - 1=0is:
(A) Y13 @y 213
€y ¥z D 44A3
4. Thelinesax+by+c=0andax +by+ecl=0arc:
(A) Puarallel (B) Perpendicular
(C) Intersccting D Collinear
% ‘The distance between the lines Sx — 12y —2=0and Sx - 12y -3=0is:
(A) 5 {8y 13
(Cy 513 D) 613
6. What conic does 13x*— 1Bxy + 37!+ 2x + 1dy = 2=(} represent ?
(A) Circle (B) Ellipsz
(C) Hyperbola (13) Parabola
7. x¥a'—y¥b*=1 is the standard equation of :
(A) Ellipse (B) Circle
- () Hyperbola (D) Parmbola
8.  If the roots of the quadratic equation x*— bx + ¢ = 0 differ by unity then :
(A} bP=4c-1 (B) cf=4b+1
(C) ¢l=4b-1 D) FP=dc+l

9. IfAand B arc two sets such that A U B has 18 elemensts.If A has 8 clements and B has 15
elements, then the number of clements of A B will be :

(&) 7 (B) 3
() 8 () 4
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10,

12,

13.

14.

15,

16.

17.

18,

Thereare 10 true false questions. The number of ways in which they can be answered is =

(A) 10¢ (B) 21

(Cy 1P D) 100

The 10" term of the expansion of(x - 1 )'' (in decreasing powers of x) is :
(A) —1C 0 (B) -x?

(C) dix D) —x

log,, (10* 10°* 10°%,_.* 10%) is :

(A} 20 (B} 10

(C) 45 (D) 55

A solution nf[ag“ (x+20) + log,, 100 = 5 ix :

(A) x=900 (B) x=1000
(C) x=930 (D) x=0980
The real roots of the equation 2%~ * = | are respectively :
(A) (572,1) (B) (5/2,-1)
(C) (-54.1) (D) (=52-1)
Ifa,b,e are in A.P, and a’,b’.¢’ are in H.P then ;

(A) 2b=3a+c (B) bh=3a+¢
(C) b= ac/8 (M a=b=c¢
The number of diagonals in an n sided figure is equal to ;

(A) nC,—2 @) nC,

(C) nC,—n D) nC,—1

The number of all possible words that can be formed using the letters of the word
"MATHEMATICS  is

(A) 111 (B) 1117212121
(C)} 11176 D) 11,
Ifl“—z iW:m:l —rl hlﬁa 2x2 matrices then PO is ;
= 1 3 Q_L'-’-‘f IJ re en ) is:
[12 -ﬂ - 12 8]
il B ® | g 3
[F 4] [ ¥ 2
() [_1 ._r_;J (D) _—4 -G
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19. Suppose three dice are thrown. What is the probability to get equal number on the face of

20.

21.

cach one ?

(A) 16 (By 173
(©) 136 @) 112
The system of equations

Ix+y—-z=0

Sx+2ly-3r=12

15x + 6y —9z=Shas :

(A) A umigue sofution (B8) Twodistunct solutions

{C) Nosolution (I3} Infinitely many solutions
1 4.}

The rank of the 33 matrix{2 3 4 | js:
4 9 16

(A) 3 (B) 2

L4 Vi (@) 0

If M= [ ot .-:inll-l is 2 2%2 matrix and M7 denotes the transposc of M, and I heing unit

~ginfl cosf |

matrix

(A) MMT=0 (B) M'=-M

{(Cy MMT=1 M) M=M

The value of sin 15" s equal to :

(A) V3+1/-2 B) 3-1/42

(C) 3+ 1122 D) Wf3=1/250

If a circle is concentric with the circle x*+ y*— 4x — fiv + 9 =} and passes through the peint
(—4,—5) then it equation is

(A) ¥+yv'+dx+6y-87=0 (B) x*+y' —~4x—0y—87 =0
{C) x¥*+y'—dx+6y+E87=0 () x*+y+dx+6y+87=0
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25, The points (0, 0), (3, /2) and {3, w/6) are the vertices of __ triangle.

{A) Rightangled (B) Eqmlﬁc'rﬂi

(C) Isosceles (D) Sculene
26. The derivation of sia ' (2s/ (14 x7)) wor.d tan 2x/(1-x%) i85

(A) 1 @) -1

(€) 11+ @ %

17, lim |L'l"' +2 4 bt o’ =

(A 1 (B) 0
€y 12 oy 143

5. him {:c‘ —1}1’{1 - posx) 8 equal to

(A) 172 By 1
{Cy 2 D)y Ve
19, fxr=e¢"7 then dy/dx is equal to
(A) logx/(1 +logx) B) x/(+logx)
(Cy Vi+logx ™) logx/(1-logx)’
30, didx (cos ' x+sin x)is:
(A) /2 B) 2/x
(C) 2/1-x_ (o) 0
11. ‘The acccleration of a moving particle whose space time equation is given by s= 3+ 218
is :
(A) O (B) 6
(C) 5 m 1
32. The tangent to the parabola xi= 2y at the point (1, 1/2) makes with x axis an angle of :
(A) 45° @) 30°
(C) 60° o
33, The area enclosed by the curve yi=4x und the liney =xis
(A) 43 @) 273
(C) 873 Dy 13
34. The ares of the region bounded by the corvey =2x- < and the liney =xis :
(A) 173 | 172
(C) 1/4 oy 16
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15. If the sum of eleven consceutive numbers is 1961, than the middle number is :
(A) 250 (H) 249
(C) 252 (D) 231
36. Ifthe standard deviation of0,1,2,3, ... 9is § . then the standard deviation of 10,11,12,13,
iy 1988
(A) & (B) S+10
(C) 105 ( §+20
37. The arithmetic mean of ten values is 12.45 and each value is inereased by 5 then the resulting
mean is :
(A} Increased by 5 (B) Increased by 2
(C) Increased by 10 (I3 Increased by 12,45
8. Two cards are drawn at random from a pack of 52 cards. The probability of these two being
aces is :
(A) 1/52 (B)1/221
(C) 1126 | o) 12
39. The probability of having at least one tail in 4 throws of & coin 18 :
(A) 15/16 By L/16
() 18 () L4
40. 8§ eoins are tossed simultancously. The probability of getting at least & beads is
(A) 57/64 (B) 577256
(C) 7/64 (D) 37/256
41. Who is the father of computing ?
(A) AlanTunng (1) JonVon Neumnann
(C) Charles Babbage (10} Adalbovelace
42, is an application that provides a huge imaginary sheet of paper on computer
with rows and columns. .
(A} Word-processing (B) Spreadsheet
(C) Power Point {1} Database
43, The full form of OCR s : i
{A) Optical Character Reader (B} Optical Card Recognition
(C) Optical Card Reader (D) Optimal Character Recognition
44, will be the last memory location in a memory of size e K:
(A) EFFF (B) FFEE
(C) EEEE (D) FFFF
M.C.A. (Master of Computer Applications) BGI-31174-A +74 [ Turn over




45, The decimal eyuivalent of the binary number 11N is:

(A) 11.84373 (B) 10.8435
(C) 1174389 (1) 10.743735
46. 'The storage capracity af 2 DVD is about:
(A) 100MB By T00MB
() 0.5GH Dy 4.70GB
47. Which of the following is not a projector techuology ?
(A) Cathode Ray Tube fiz)) Thermal Technology
(Cy Digital Light Processing (1) Liguid Cristal on Silicon
4%, Inaword processing softwarc are used to reuse complex paragraph formals
without re-creating each-time,
(A) Macros (B) Templates
() Clipboard (D) Styles
49. Which of the following data structure is uscful in traversing a graph by hreadin Orst
search ?
(A) Stack (B) Lis
(C) Queue (D) Set

5. If register R contains 5 and the value stored at the address is 7, then what is the wvalue
obtained after execution of the following statement 2

ADD 6 {immediate) o R (indirect)

(A} 12 By 13
() H ) 14
51, End-to-end conn eetivity is provided from hist to hott in the taver of (5] model.
(A) Transport (B) Network
(C) Session (D) Physical
53, Which of the follow ing stalemenis is correct 7
(A) Heaps are binary search trees (B) Heapsure complete binary 1rees
(C) Heaps are full binarytrees () }eaps can contain only integer duta
53, Which one of the following formats is commonly used for hooks and e-journals 3
(&) BMF (B) MPEG
(C) AVl (D) PDF
24. Which of the following options in C++ for catching an exception is preferred ?
(A) Catch by value (B) Cachby pointer
(C) Catch by reforence (D) Catchby function
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56.

7.

6l.

62.

Which of the following processes in Unix is responsible for sending login prompt to the terminal

when it is switched on ?

(A) gemy (B) sysiem
(C) login (1)) sheldl
If Endless is to ETERNAL, escape is to :
(A) Surrender (B) Avoid
{C) Abandon (D) Abscond
The antonym of ADVERSITY is :
{(A) Happiness (B) Prosperity
{C) Riclhness (D) Simplicity
The synonym of HOSTILE is :
(A) Friendly (B) Happy
{C) Unfriendiy (D) Rach
Seleet the pair which is related in the same way as Submarine : Fish
(A) Thread : Needle (B} Bay: School
(C) Kite:Bird (D} Food : Hunger
Had you worked hard, you securcd more.
(A) will have (B) shall have
(C) should have (D} would have
It has been raining two days,
(A} for (B) since
(C) from (N before
Choose the nearest meaning word to the underlined word in the sentence “He used to regale
us with anecdotes™ :
(A) tre (B)  entertain
(C) vex (D) trouble .
Choose the word that is spelled wrongly :
(A) shinng (B} corect
{C) obscure (D) sparkle
Karan is junior Varun.
{A) than (B) for
(C) to (1) from
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65.

a7

68.

69.

T0.

Choose the ineorrect sentence :
(A) He does not know Enghsh (B) Hekmows English
(C) Hedonotknow English (D) He can speak English

According to somE statisties 60 percent of women cmployees arc compuier prnluainnah.
Forty percent of women arc cither housewives or perform other jobs, AnsWer the following
question :

How many women employees are housewives 7

(A) Lessthanor equal 10 40 percent (B) 40 percent
() 60 percent (1) 30 percent
Read the following plrngﬁl.ph and answer the guestion :

Mary went shopping for anew coat. She found a red oneshe really liked. When she brought
.t home it matched perfectly with her favourite dress. What did Mary like ?

(A) Shopping. B Dr=s
() Coat {1} Ti::n:wi?pmﬂﬂaﬂﬁtdm
Read the following paragraph :

‘The population of India is increasing year by year £ {forts are made 0 inenminndpmmuﬁnm
<ctting up hospitals, and cducational : nstitutions. Still these are not sufficient.

The key idea inthe above parlgnlp’h. i

(A) Ascrious problem of over population @) Lessfood production

(C) Less pumber ofhospitals D) { ess numiber of educationsl instinations
Choose the word which is different from the rest:

(A) Asia (B) Canada

(C) Australia (D) Afica

Arrange the words glven helow in ameaningful order:

1. Education 1, Promotion 3. Retirement 4, Employment
&Qunﬁﬂmﬂnﬂ

(A) 15423 B} 51243

(C)y 15234 (D) 54123




T1.

1 &

74.

75,

What can be deducted from the following statements :

+  All film stars are playback singers.

«  All film directors are film stars.

(A) Some film stars are film directors By Al film directors are playback singers
{(C) Neither (A)nor(B) (D) Both(A)and (B)

Given below is & statement followed by two assumptions numbered Land i1. Decide which of
the assumptions is implicit and seleet appropriate choice : :

Stgtement : Children are influenced more by their teachers.
Assumptions :
1. The children consider teachers as their role maodels.

L. Alarge amount of children’s time is spent in school.

{A) Onlylisimplicit (R} Omnly I isirmplicit

{C) Neither I norILis implicrt (D) Bothland [l arc implicit
IfACT" is coded as "DFW’, how will you code *“GOAT ?

(A) CEUV (B) JRDW

(C) FHUY (D) JRDV

A man ran 5 kms in east direction, He then turns left and ran for 3 kms. He then turns left
and walks for 3 kms. He then turns left and walks again 4 km, How far has he rea ched from
the starting point 7

(A) 1Km (B) 3Km

{C) 5Km {y 2Km

Srilata and Monika arc sisters. Bindu is Monika's daughter. Srilata has a son Srikanth. How
is Bindu related to Srikanth ?

(A) Brother {B) Cousin brother
{(C) Father (D) Nephew 3
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